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6HTH L00m EESE) 15.21 (+1.6)| 2% #854) wi16.47 (+2.D)[/NRF  BESE(3) w16.87 (+2.1)| k& #&E(5) 17.25 (+1.6)[&# #&(Q3) 1728 (+1.6)[®E%H =%0) wi17.30 (+2.D)|E+E A—(5) 1739 (+1.6)[2E E&EO3) 19.24 (+1.6)
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6H7H 1500m EEIGESG) 5:36.23[LiL ZE5(6) 5:41.86| KA St&(4) 5:48.39| BT K¥(6) 5:50.17[ kAR #E=0) 5:50.34|#0M AUAER(5) 5:52.68@HF #£A(5) 6:11.81[ILA &4 (6) 6:19.99
' + HETAC + HETAC + B ETAC TFZIXC + HHATAC TFZIXC + HHETAC TFEIXC
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6HTH A Bk +BAAC
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6ATH | vy~ IR =% Y aEAC #E1SC
v | 6n7a Lo FE Z03) wl4.26 (+4.D)|BE 13) w15.40 (+4. 0|k BII3) wl1b.62 (+2.9)[FH 1K£3) wl1b.91 (+4.1) |28 FEB) w1b.96 (+2.9)[/E& KA(2) wl16.58 (+4.1)[&@E #@3) wl6.70 (+4.1) =8 Q) w16.83 (+4.1)
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" mAEE-ERT TR[* 2 X RAC TR[* 2 % RAC TR|E&E -/~ HETHh TR|EM-&+ #NAME? | K- =/ #NAME? |33 - A YNk
6HTH - Bis H_E(3) 2.80|=H BE®3) 280" EE(Q) 2.20
" +HE-+HEH TR|+BE- &4 TR|EM-EF
6H7H IR Rl RE(2) w6.13 (+3.1)[B0  #A=H3) w6.00 (+2.3)[173E  FH#(3) 578 (+1.2)[HLE =) w5.76 (+3.9)[#Ex  £FIG) wE.62 (+2.8)[EF #BBHO) w549 (+2.5)[2E ZF10) w5.45 (+2.1)[38 EKAEERR) w5.25 (+2.2)
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6HTH 800m BS  #9R 2:05.02| & AKR(3) 2:07.07|BR EH(3) 2:07.36|7kB Z=4I(3) 2:07.56(fEBE  MBK(3) 2:08.13[#ER  :(3) 2:08.92|#@x EHAE(2) 2:00.99(&H# 1&31(3) 2:11.09
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w (wind assist) : JBJEZ

TR : J8{5 Lmiek
TR1 : @15 14 FieR
TR2 : J@15 24FFidx
TR3 : 815 34 Al dk
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6ATH HEmib +HE-hER TR|+ B8 F&h TR
6/17H . B #2(3) 461 (+1.6)[KF #HZE(Q) 457 (+15)[eE HHEO) 437 (+1.2)[BR  E=#0) w437 (+33)[Ful LEBE®R) 426 (+1.7)[&EH WEQ) 425 (+2.0[RE EZQ) w22 (+2.6)| KNI &BE®R) 4.16 (+1.5)
" KM-BAF TR|FE&E-NBHATH +HE-+HAEH +HE-ACRF FE-EEBRE) R-EH +HE-HHTF K -SIBH
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SeEk T | 6878 100m EEAA) wl2.81 (+2.1)|ARE HEQ) w12.98 (+2.1)[FTF ZFxQ) wl13.16 (+2.1) [t Ein) wl13.23 (+2.1)[iEA %=(3) 13.24 (+1.3)[R*ER BEFQ) 13.30 (+1.3)[mE =%*() w1338 (+2.1)|E+E #&H(3) w13.39 (+2.1)
- HR-HRF +HE-REP B H5RF R BiRIbH /- KX&F TR3|FE&E - ERT TR2[mE&E-/\ER BA/NHeE
6A7H 500m kil 22A0) w25.88 (+2.4)|8kEE  F%(1) W27.55 (+2.0)|E4 XL ~A L Bi3) w27.64 (+2.4) A E(3) w27.81 (+2.4)|FE EEQR) w27.84 (+2.4)|758 Z=H03) w28.98 (+2.4)[FR  LEQ) w29.13 (+2.8)|28 »74(2) w30.19 (+2.8)
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SIIEAA) wi2.76 (+2.0|&HFT EEQ) wl13.04 (+2.7)[@mE =E%0B) wi13.18 (+3.6)|A+&E #&7H(3) wi13.24 (+2.7)| B4 #&E(3) w13.32 (+3.2)[FR #BE®R) wi1335 (+3.2)[FHO #%0B) w13.43 (+2.7)
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6ATH bk L E) 467 (+1.2)[KF  HEQD) 4.63 (+1.2)[bE HEER(3) 459 (+1.3)[ful BEB) 439 (+0.2)[B&lR  =/(3) whl4 (+2.6)|BE EERQ) 4.05 (+1.7)[#H MEQA) 4.03 (+1.2)
" RHE-ZEAH TR(E& B -/NHEH TR|+HHET-+HETH R EEREE) 1+ BHET-ACRAF +HET-SEHF RE-EH
6H7H L #wA BEQ) 10.07(1E #4Q3) 9.95[Md EH(3) 9.38| %k 4IEE(3) 9.37|&F FLE(2) 9.35| R\ AHQB) 177
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w (wind assist) : JBJEZ%E
TR : J8{5 L@ inek
TR1 : 815 1Rl sR
TR2 : 815 24F-Fdak
TR3 : 815 34 Al dk




